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QUESTION 1

Which of the following statements regarding the description of MPLS are correct?
A. Egress LER forwards packets based on IP routing table.

B. Core LSR forwards packets based on label.

C. Ingress LER forwards packets based on label.

D. Core LSR forwards packets based on IP routing table.

Correct Answer: AB

QUESTION 2

What are the main features of the SDN controller?
A. Centralized networking

B. Separating the Data Plane and Control Plane
C. Upgrading Routing Protocols

D. Open interface

Correct Answer:. AB

QUESTION 3
Which of the following are the features of Huawei IPRAN solution?
A. Supports Layer 3 networking and smooth evolution to LTE, protecting customers\\' investment.

B. One network, one set of OandM, full service bearing, lowest network construction cost and OandM cost; Visualized
OandM, Reducing OandM Costs and Simple and Efficient.

C. Oriented to FMC and Adapted to Future Development Requirements.
D. Based on a unified router platform and a unified VRP platform, IP RAN is compatible with PTN products.

Correct Answer: B

QUESTION 4
Which of the following statements about layer 2 LAN switch are incorrect?

A. LAN switch will modify the data link layer header of the packet and then forward it.
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B. LAN switch can learn Mac address automatically.
C. LAN switch operates at data link layer.
D. LAN switch will modify the network layer header of the packet and then forward it.

Correct Answer: B

QUESTION 5
Which of the following access modes can be used by leaf nodes in a data center?
A. Single-node system deployment

B. ToR Deploying an SVF System

C. Deploying the M-Lag on the ToR

D. ToR Stack Deployment

Correct Answer: C
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